Assembly Instructions 22108

1-13




U Ul

2—-13




3-13




22108

1 1 1200%382%18MM
2 1 1200%382%18MM
3 2 614%380%18MM
4 1 614%380%18MM
J 2 1162%64%18MM
6A 3 599%194%18MM
6B 3 599%194%18MM
TA 6 332%120%18MM
1B 6 332%120%18MM
3 6 551%120%18MM
9 6 525%342%5MM

10 2 624%582%5MM

B B L

4-13




O O O O
® 15%12 AX16|{M6*35 BX16|¢ 8*%40 CX16|M3. 5*%15 DX80
O O O O
g S
M6*45 EX6 | M6*50 FX8 GX14 350MM HX12
O O
€3
o @ Q @
d12%12 [X50| M6*24 JX50 KX1 LX8
MX1 NX4

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
iom 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16

1|hdl

2 3
| |

4
|

5 6
| |

5>-13




HX12

/@/@

DX36

CX16

BX4




X2

AX4

NX4

MX1

FX8 GX14 KX1

EX6

7-13




BX12

AX6




9-13




1X24

6A/6B

10

6A/6B

X0

10-13




11

6A/6B

12

X0

A\ Y
W

6A/6B

X0

11-13




12-13




15

13-13




	图纸和视图
	模型


